I"AREXE 2008 LA RENFEERIRT
(FEREERDABHEEER L, SREEREFTRO

RV HEREECE . THRECE. Y WFFLIT 1A -
FuBH: @A AENT: AH

— (1543 « A F(X),g(x) A2, Hux)f(x)+v(x)g(x) = (F(x),g(x)), I (u(x),v(x)) =1

2 0 0 0
3 0 0
= (1550, R nBTHIE : P
0 o ... 2
3 0

(@+3)x,+X,+2x,=a
=20 43)  KFTTFEH {ax, + (@—-Dx, + X, =2a
3(a+1)x, +ax, +(@+3)x; =3

VY (15 43) « W B vl oy, 0, oo, o ZRPER Y, TEB: SRORVEME— R R U EAAT 2
Oy, Oy, oo, O ZRTETE K

T 53) v WE (X, X, ) = XAX 5 I8, A5 e X, X, {4
XAX, >0, X,AX, <0 . UEBIAEAEAEZR S n 4t ) & X, A7 X,AX, =0,

AN (15 93) ~ SR Ta) & o A 52 ) g e i e B AR J ) 7S TRl A AS (A i, e

o, =(1210) (B, =(2-10,1)
{ocz = (—1,1,1,1)’{[32 =(1,-1,3,7)

£©2049) . e, e, 85,8, RVULEL MR V I—415E,  CAIZMAH £ EIX AR T 1)
HFE A

1 0 2 1
-1 2 1 3
2 5 5
2 1 -2




K
(1) ZePEArdh £ fEdn, =€, —2¢,+¢€,,m, =3¢, —€,—¢€,,M, =€, +€,,M, = 2¢, [ FHLE

(2) REEVEAH £ A% AR I
VA5 93) . W B A —rxrkilE, ChH—rxnfif, HFL(QC)=r, iFW: 1) #BC=0,
MB=0; 2) ¥ BC=C, WB=E

JL20 40) . W VaEngedeth i), f,ga2V ER&rAsd, HfAnANH R,
Efg =gf M HAC g 20 =1, f, 2, AL A




